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Regression Analysis

QUANTITATIVE APTITUDE

By Anurag Chauhan
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Regression analysis is @ method (Statistical Tool)
to predict the value of a variable based on the
value of another variable.
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gt Ifx=10& y=15 (5 /&\/ _
by, = 0.6 &b,, = 0.8 ’7’/ f -
. Find two regression(Lines ) by
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.« Find twqregression Lines if

. X 2 46 8
Y. 3 6 9 12
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Find the(regression coefficient)x on'y (by,)
If Y x =40, y = 20,Y xy = 800, x2 = 2500
Y y4 =1500 & N=10




Find the regression coefficient 0(37 onx )
Price(*i) Demand (i)

_"— Arithmetic Mean % = 20 55=3
" Standard deviation 2=cx = <%
i P Correlation Coefficient [ r=0.6 ]
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"' ¥ ?w Find the@gression coefficient of y on \x]
- .~~~ Covariance of x and y=121

******** SD of x =15 & SD of y=14
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%} Find the regression equation of y on x
Pricer) Demand (‘%)

PO——

~~~ - Arithmetic Mean <= 44 3= 58
"~ Standard deviation 5.60 6.30

h Correlation Coefficient r=0.48
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2% Then the value of r ?
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7t by =—0.25 & by, = —0.37

2% Then the value of r ?
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i@ Find the mean values of X and Y when the equations of

the two lines of regression are:
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If 7x-3y=18 be a@eﬁgression egunatiog)of y on x
then regression coefficient is
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4~ Find the means of X and Y variables and the

{ 1‘44"' !

@efficient of correlatior?between them from the

e —

= following two regression equations:
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9 ~ The equations of two lines of regression are: | Sun
- 8X—-10Y+66 =0 and 40X —18Y = 214 J 3
“ The variance of X is 9. Find A 4= I
7 (1)The mean value of X and Y. ~— &x—|o 4~ — L
~A2)Correlation coefficient between X and Y. ) Z 1=10 () =—
Standard deviation of Y. X2 =66+ 9&
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3 Q. If the relation between two variable aand u is @
u+3x=-15 & other two variablesvandy is 2y+5v=23. >
If the/regression coefficient of y on x)is known as 0.80

What would be th re_gression?og_f_ficient ofvonu?

M +F3X=-1s & TEABEV=23, );.33\—;0-80
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Compute the probable error assuming correlation is
0.8 from a sample of 25 pairs of items
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h S If r=0.7 and n=64, Find out the probable error of /'@

correlation and@termine the limit for the correlation A
— of the population ‘ -
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Marks of 15 students of class 12th lnnd

physics are awarded out of 15 and 40 respectlvely
AP

Mh}z >\6>
- M0
Let(x)and epresents marks in maths and physics

Prepare a bivariate frequency table

(14,38) (12,37), (3.8),(8,18) (9 35)
(1,6) (7,28), (8,35), (11, 31) (1, 12)
(13,2) ,(14, 29) ,(14,19) ,(6,39) ,(8,7)
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